Afternoon Session

Q1. Swami Dayanand Saraswati founded

A. Brahmo Samaj B. Indian National Congress
C. Arya Samaj D. Indian National Army
Q1. FarH! gueg wXEadt Y Tyt )

A. SEH FHST B. ¥R IS S

C. 3m AT D. SR TS Bl

Q2. won the 2017 Champions Trophy cricket tournament.
A. India B. Australia

C. Pakistan D. South Africa

Q2. 2017 IRyw i e gatde & #1 sha g8l

A. #RT B. sireeforar

C. grferEdret D. GfatoT 3shiehr

Q3. Kaziranga National Park in Assam is a sanctuary for

A. Rhinoceros B. Tiger

C. Lion D. Elephant

Q3. 3\A # yd FISRET TET 3gaqT=T ¥ fAT U IR §|
A. 3eT B. ser

C. &R D. gt

Q4. Who is the current Union Minister of Finance?

A. Rajnath Singh B. Smriti Irani

C. Arun Jaitley D. Venkaiah Naidu
Q4. TIA HFET Rea 7N Fi §2

A. TSy g B. ¥ STt

C. 37207 Sieelr D. dehar 13
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Afternoon Session

Q5. Rakhigarhi, which is considered to be the origin of Harappa civilization, is in
district of Haryana.

A. Panipat B. Hisar

C. Sirsa D. Faridabad

Q5. TENTE!, TS 30T WIAAT FT 3c9fcd TAT AT AT S, TEERAOTH S A Tua g1
A. gread B. fgaR

C. fazar D. wllereTe

Q6. Under which Mughal ruler did Haryana come under the control of the British?
A. Akbar B. Bahadur Shah
C. Shah Alam D. Wajid Ali

Q6. FE T AT & ATHA Frer H gRATOM W 33SiT 1 frzrror Turfia gam ar?
A. 3haT B. SgIgX e
C. ITg 3T D. arfare; 3relr

Q7. Ravindra Singh Bisht, the famous archaeologist, worked in Banawali, Hisar in the

civilization.

A. Gangetic Plain B. Indus Valley
C. Vedic period D. Persian

Q7. ¥R Wacatag g e fse & Rar & qaraeh & YA U FHIH AT
A. 30T T Hee B. fiy aréy

C. dfee Frer D. BRET

Q8. The Indus Valley Civilisation is a civilisation.

A. Bronze Age B. Iron Age

C. Stone Age D. Dark Age
Q8. Ry urdt wsaT v T &

A. HTET ZIT B. @ilg T

C. 9TSTOT T D. 3R T
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Afternoon Session

Q9. Mrs. Sushma Swaraj, the current Minister of External Affairs of India, was born in

A. Ambala Cantt B. Faridabad

C. Rohtak D. Rewari

Q9. FdAATA s H fager #:f, sforch gwam Tawrer #1 e # gam |
A. 3TFdTeT e B. wiererg

C. Ugcsh D. T

Q10. Who won the first ever individual Olympic gold medal for India?

A. Sakshi Malik B. Geeta Phogat

C. Vijendra Singh D. Abhinav Bindra

Q10. fFua HRT F AT 3T TF T IgaT AAAF FIOT Ig&F SAIar?

A. aralt #Afcrs B. 37T Bte

C. a=¢ e D. =g fogr

Q11. According to Government reports, percent of total inhabited villages of Haryana
are electrified. (Rural Electrification Report as on 30.06.2017)

A. 90 B. 100

C.75 D. 82

Q11. TR Rulet & AR, gRATON & For a4 gu aniai # @ wferere aifal &1 faggeiteor g o g
(30.06.2017 aF #r ArAIvr fggdiaor RuE)

A. 90 B. 100
C. 75 D. 82

Q12. What is the new name of Ballabgarh?

A. Balrampradesh B. Balramgarh
C. Balrampur D. Balramganj
Q12. SoasIg HT AT ATH FIT §?

A. FRTHTC B. SoRT#HG

C. FoRHAR D. JeRTAIST
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Afternoon Session

Q13. Union Government of India selected to be developed as the First Smart City
of India.

A. Rohtak B. Rewari

C. Faridabad D. Gurugram

Q13. Rd WHR o ART FT IgaT TATE /A 9a & AT T T AT B

A. gas B. darsr

C. ®leEg D. %

Q14. Which is the national highway between Ambala and Haridwar?

A.NH 8 B. NH 72
C. NH70 D. NH 71
Q14. 37aren 3R hear F @i Fia @1 T AT §?

A.NH 8 B. NH 72
C. NH70 D. NH 71

Q15. Who wrote 'Jhadufiri’, the first novel written in Haryanvi language?

A. Surender Sharma B. Rajaram Shastri
C. Deep Chand Bahman D. Surdas

Q15. gRarordt streT F A T s U "R A TEer e # di?
A. gl uaT B. ISTRTA &Y

C. 8 Ig g D. ¥ |

Q16. Several words in Haryanvi are similar to words in language.
A. German B. Finnish

C. Spanish D. French

Q16. R F FE 2eq STTNT & 2Aeal & A &

A. SHA B. fopfever

C. ®uferer D. %a
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Afternoon Session

Q17. Which of the following is NOT an autobiography of Kapil Dev?

A. By God's Decree B. Cricket my style
C. Straight from the Heart D. Sunny Days
Q17. Afaf@a & ¥ #ia W fFame, R 2 A v rcASTA T 82

A. STS JNsH 3T B. fohane ATS Teme
C. T WA G §IC D. Heail 37

Q18. Surender Sharma is a very famous Haryanvi

A. Folklore artist B. Satirist
C. Painter D. Sculptor
Q18. §ix T T Tgd Wi gRAmord gl

A. SreRafid el B. SFIMHR
C. R D. FfHR

Q19. Which one of the following rivers does NOT flow though Haryana?

A. Ghaggar B. Indori

C. Dohan D. Beas

Q19. Arafaf@a afdat & & Fia ot 7Y, eRaoT ¥ SF 78 @ 2

A. g3 B. Swarr

C. argel D. s

Q20. The district receives the maximum rainfall among all districts of Haryana.
A. Kurukshetra B. Faridabad

C. Ambala D. Hisar

Q2o0. forer & gRamon & weft ot it goren # waw rflrw awt @l 21
A. FBEHT B. wiigreTg

C. 3f&dTelr D. fgarR
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Afternoon Session

Q21. Dharuhera Industrial Town, the fastest growing Industrial Area is in District
of Haryana.

A. Rewari B. Gurugram

C. Hisar D. Faridabad

Q21. U 33T 13, FEH AF A F gt aren 3igAF &7, ghaon F kRl

A. arsr B. eI

C. fgar D. WiereTg

Q22. Haryana does NOT share its boundaries with

A. Delhi
C. Uttar Pradesh

Q22. ghrom #r HaAT

B. Punjab
D. Gujarat

Fr e § 7 g§ 7 L

A. feeelr

C. 3cc¥ Ueer

Q23. Total area of Haryana is

B. 9o

D. Ierrd

square kilometres.

A. 44,312 B. 44,212
C. 55,412 D. 33,612
Q23. RN F For aAwA ot fFraieT 8

A. 44,312 B. 44,212
C. 55,412 D. 33,612
Q24. There are _______ districts in Haryana state.

A. 22 B. 21

C. 20 D. 14
Q4. gfmnusyA__ gl

A. 22 B. 21

C. 20 D. 14
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Afternoon Session

Q25. Where is the high court of Haryana located?
B.
D.

A. Faridabad
C. Chandigarh

Q25. AT F 3= AT Fer ud 2
A. B{crETE
C. 93n1g

Q26. Sahibi river finally drains into the
A. Arabian sea

C. Beas
Q26. TIfge 71dY 3a & et #1
A. 3T EFR

C. o

Q27. The Chinkara Breeding centre is in
A. Bhiwani
C. Sirsa

Q27. e fiffr dex #E
A. faret
C. farar

Q28. Fatehabad is famous for
A. Watches

C. Cotton Threads
Q28. wdgmEE

A. afgar

& fow yfdg §1

C. g umar

Gurugram

Panchkula

B. Sutlej

. Yamuna

B. Kurukshetra

. Kaithal

. YT

B. Wool

. Jute

Page 7 of 26



.Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana)
Afternoon Session

Q29. Which Haryana city is called 'Power house of boxing'?

A. Rohtak B. Bhiwani
C. Hisar D. Rewari
Q29. fFu gRATON e FY "FTFHT FT UG 3" FgT ATAT 82

A. gas B. fari
C. fgar D. @rsr

Q30. Pick the odd one out:

Nose, Mouth, Eye, Ear, Skin
A. Nose B. Skin
C. Ear D. Eye

Q30. WA FT TIA F:
AE, HE, W, F, caqr
A. AT B. caar

C. & D. 3@

Q31. Complete the analogy.

ABD:FGI :: KLN:
A. NPQ B. SUW
C. UvX D. LMN

Q31. FATAT F G F .
ABD:FGI :: KLN:

A. NPQ B. SUW
C. UVX D. LMN

Q32. What should come at the place of question mark (?) in the following number series?

4,7, 12, 19, 28, 39, 52, ?
A. 58 B. 59
C. 67 D. 72
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Afternoon Session

Q32. farafaf@a Tear sf@en & e et (?) F T W F47 gl A1iRT?

4,7,12,19, 28, 39, 52, ?
A. 58 B. 59
C. 67 D. 72

Q33. In a certain code, COURSE is written as 568943 and ROAR is written as 9629. How is
RACE written in that code?

A. 8932 B. 5894
C. 9253 D. 4329

Q33. vs fAfRad #1z #, COURSE #! 568943 31k ROAR ' 9629 @t sirar §1 38 #13 # RACE &' F41 faram
SITTI?

A. 8932 B. 5894
C. 9253 D. 4329
Q34.35-[3 + {26 - (9-6)}] =

A. 11 B.9

C. 10 D.8
Q34.35-[3 + {26 - (9-6)}] =

A. 11 B. 9

C. 10 D.8

Q35. There are 50 fruits in a basket out of which 9 are apples. If you pick up a fruit from the
basket, what is the probability of picking an apple?

A. 9/50 B. 50/9

C. 1/50 D. 8/50

Q35. T AF #H 50 %ol § [T § 9 A« 1 IR 317 AFN F vF & 35T §, A TF AT FV AN A FIT Fo1A
e?

A. 9/50 B. 50/9

C. 1/50 D. 8/50

Q36. (60% of 360) - (360% of 60) =
Al
C.0 D. 3
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Q36. (360 F160%) - (60 FT1 360%) =

A1l
C.0 D.3

Q37. Rati purchased 500 glasses at the rate of Rs.90 per glass. She sold the glasses at
Rs.120 each. What was her profit/loss percentage?

A. 32.50% B. 33.33%
C. 35.25% D. 34.90%

Q37. T & 90 Fu yfar fremw Y a7 & 500 Fremw @il 38 IAF emd 1 120 393 & a7 A1) 3307 Arer
/ e afdera fraar ar?

A. 32.50% B. 33.33%

C. 35.25% D. 34.90%

Q38. The SI unit of electric charge is

A. Ampere B. Volt

C. Coulomb D. Watt

Q38. Rgga smawr $ vaITS FHE gl

A. TFIRR B. dleT

C. E}\Wﬂ%f D. are

Q39. is an example of a non-metal.

A. Sulphur B. Potassium
C. Magnesium D. Iron

Q39. IR-4rg 1 v FETEIr B

A. T B. arefRA

C. Aehfga D. oligr

Q40. The in human digestive system is commonly known as the 'food pipe’.
A. Tongue B. Oesophagus
C. Stomach D. Throat
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Q40. AT I aF & F HAAR W NS T F ATH & AT AT ¢
A. ST B. IM&sTell

C. 9T D. 3relT

Q41. is the synonym of "peer".

A. Pressure B. Fruit

C. Colleague D. Look into

Q42. is the antonym of "beneficiary".

A. One who receives B. Sponsorer

C. Inheritor D. Successor

Q43. Identify the meaning of the idiom:

"Burn the midnight oil".
A. Enjoy someone else's money B. Waste time

C. Spend more than you earn D. Work late into the night
Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"I went to shopping with friends."
A. With friends I went to shopping. B. To shopping I went with friends.

C. I went shopping with my friends. D. I went to shopping with mine friends.

Q45. Complete the sentence by choosing the correct word.

The team of doctors successfully on the patient.
A. operated B. prescribed
C. followed D. practiced

Page 11 of 26
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Q46. i for@ 2reg FT YITHaATEY Ueg TS|

g‘?.’
A. &

C. gr&aY

Q47. A= @ ereg &1 AT (fae#) 2reg Ty |

T
A. B
C. 35"

Q48. @ B 1 Feray F1 3TgFT e A |
ﬁgﬁm
A. AT 9T AT

C. s X AR S

Q49. W@1fHd Ueg FT Thadd g4 |
Waﬁ@aﬁ#&*mé’rmmﬁﬂ
A.E|§'

1%

C.EE

Q50. W@1fHd Ueg FT Thadd 1 |

A I T S |
A. ST

C. el

B. 30T

D. grar

B. o1

D. Wreid

B. f5dY & amely @rem

B.EI'IE
D.EIE

B. Sdr

N

D. St

o
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Q51. 500 shares of Rs. 10 each were forfeited due to non-payment of call money of Rs. 6
per share. Out of these 300 shares were re-issued at 10% discount. The amount transferred
to capital reserve is:

A. 2700 B. 3000
C. 1500 D. 1800

Q51. 10 T gfer Hed & 500 WA AT ARY FT AT o FIA Y Tole ¥ 6 FIT T AW e FX AT TN g7k &
300 =X 10% e T A @ I frw 1w oY qarse B 9 @= 7 geaiaia i I arelr aflr =4r g

A. 2700 B. 3000
C. 1500 D. 1800

Q52. Which among the following is the fundamental rule for recording transactions into
nominal accounts?

A. Debit the receiver and credit the giver B. Debit what comes in and credit what goes out
C. Debit expenses & losses and credit gains & D. Debit value received and credit value given
incomes

Q52. ATHATT FTAl # AF-eAT I Gof FA & fav eafaf@a & @ Fla @ smurera s 82

A. YT &3 aTol &l T8 Y 31T 8o are) 1 FTAT L B. S 3{eT 31T & 3@ A1 Y 3T S 918 S § 38
STAT Y

C. @d 3R gliardl T A Y 3R wifcat 3R 3m D. YIS HT &l A1 # 31el 3R T 10 Hewr &t S1Ar
AT A

Q53. Bad debts incurred by consignee, will not transfer the burden to consignor when he is
paid

A. Commission B. Declared commission

C. Overriding commission D. Commission on profit

Q53. N ZART T FFT T FaT HOT FT AN YT T FEAARS 6T F1IT o 3qA T $aTaTe R
el

A. FHHT B. €M sheTerT

C. AT SHeTerT D. ¥ YT hATRrT

Q54. Which account is the odd one out?
A. Office Furniture & Equipment B. Freehold Land and Buildings

C. Stock of raw materials D. Plant and Machinery
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Q54. FAfaf@d & ¥ T AT WraT AT 82
A. FTITer PefraR 3R 3uaor B. Whigles §{f@ 3N a7t

C. &= AT &l Tl D. 37 3k #Aefi=r

Q55. Statement prepared to show the financial position at the end of the period is called

A. Trial Balance B. Balance Sheet

C. Trading Account D. Profit & Loss Account
Q55. 3af¥ F 3ia # ey Rufa # REe & v IR fawor # FeT ST 8
A. TS Soid B. soid efic

C. ¢fsar @rar D. @87 3R g1fed @rer

Q56. Which one of the following is not a wasting Asset?

A. Mines B. Quarries

C. Oil Field D. Patent
Q56. ArAfaf@a & ¥ F1 v rvary Fufea a¢t &2

A. @t B. 9caX &1 @lel

C. damery D. Uée

Q57. Mr. X consigned goods of the cost of Rs. 20000 to his agent Mr. Y and incurred Rs.
4000 for insurance in transit. Mr. Y took delivery of the goods after spending Rs. 6000
towards freight. He sold 3/4 of the goods for Rs. 30000. Sales expense is Rs. 1000. Value of
closing stock is:

A. 7500 B. 9000
C. 9500 D. 7750

Q57. AT X A 379=t TS Y HT 20000 F9F ¥ AT FHT AT ST 31T 30&F fAT 4000 FIT FT IRITAT
(zifare) €t agar Tl AT Y @ 6000 TIT FT AT GATS $TST T FIA & d1G AT HY FIai gred 1| 3egia 3/4
AT HT 30000 FIT H I fram| s FIA W 1000 FIT FT @ g3 A T B faw weiw F1 qeT 741 82

A. 7500 B. 9000
C. 9500 D. 7750
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Q58. Goodwill is a asset.

A. Fixed B. Current
C. Tangible D. Intangible
Q58. 4T TH wufea ¥

A. 3T B. IdHTT

C. ol D. 3/

Q59. In the absence of partnership deed interest on loan is:

A. no interest B. 5%
C. 3% D. 6%
Q59. WEHTRIAT Yol F THIT H HUT W AT fhdT &1dT 8

A. FIS sTTT AGT B. 5%
C. 3% D. 6%

Q60. Mr. Y followed WDV Method and SLM Method of Depreciation during 2006 and 2007
respectively. He violated:

A. Conservatism Principle B. Materiality Principle

C. Consistency Principle D. Cost Principle

Q60. 5t Y & Haer: 2006 31X 2007 F R Hegerw # secg 3.d. (WDV) faftr sk vw.ven.war. (SLM) fafer
&1 uTele BTl 3% A frw et #1 seerae R rar?

A. ®feare Bgia B. uerd fagia
C. Hardar Rgida D. &g fgia

Q61. When transactions are incorrectly recorded they are known as

A. Technical errors B. Errors of omission
C. Errors of commission D. Errors of duplication
Q61. I« A-aT I R*E e o &, A 3¢ ___ FET STl

A. deeiiehr Jfear B. T &1 qfear

C. & &1 Ffe D. aera #r IR
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Q62. Audit done continuously throughout an accounting year is called

A. Complete audit B. Continuous audit
C. Private audit D. Interim audit
Q62. TF JET a¥ # FTel T fFT S arel or T qileqor (3HifRe) Y ___ Fea &
A. ot orar adeTor B. faRaR orm advefor
C. fashr erar gdaror D. 3R or@r wieTor

Q63. Examination of documentary evidence to ascertain the accuracy and authenticity of
transactions recorded in the books of accounts is called

A. Vouching B. Verification

C. Internal check D. Investigation

Q63. JaT afgdl # gof ST Y g HR WEAOIFAT FT g T F AT SFARA T Y ST B
FET AT ¢

A. ST+ (ar3faem) B. TcamdeT (AR fthehereT)

C. 3HidRer Sirar D. 3f=awor

Q64. An audit report in which the auditor does not insert any qualification, modification or
reservation is called

A. Qualified report B. Negative report

C. Clean report D. Positive report

Q64. ts ¥ aar gdaor (3iifEe) R Sraed dar wars (3iRe) gant wRads, waeer a1 smamor afFafaa @
R e ¥, 39 FEd ¢

A. graeT e B. sTRIcH® RO

C.g@ﬁqﬁ D. hRIcHs RAIE

Q65. Shares held by each Director of the company as per the Articles are known as

A. Preferential shares B. Qualification shares

C. Convertible shares D. Redeemable shares
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Q65. AW F HTAR FUAl F T AU ZarT W@ 71T RN Fg ST B
A. 3TRATT A B. FTfeIfthehelel AT
C. gRade X D. 9fced IR

Q66. Which of the following standards on Auditing deals with audit planning?
A. SA 610 B. SA 300
C. SA 620 D. SA 230

Q66. AFfaf@d & ¥ arar weor (3iif2Reer) F1 Fie a1 #AETF r@T THeTor Ao ¥ T &2
A. TE.T. 610 B. TH.T. 300

C. Ta.T. 620 D. tH.T. 230

Q67. Capital expenditure is taken as a revenue expenditure, it is an error of:

A. Omission B. Duplication

C. Principle D. Commission
Q67. YSllera saa FY T =49 & 9 A o forr o B, e frw e Y qfe 82
A. T B. aleda

C. Rgra D. &

Q68. Audit evidence states the :
A. Involvement of the accountant B. Credibility of the company

C. Trust worthiness of the management D. Reliability of audit evidence influenced by its
source and nature

Q68. @r qdiafr (3iif3e) yATr PEfaf@d & ¥ Far yeRkia Fyar §?
A. @R FY Fefier B. &uer 1 ar@
C. 9&treT &1 [aag=iaar D. 9id 3 TTHT A AT SI@T I8 sl JHTOT

Q69. One of the most important tools in cost planning is:
A. Direct cost B. Budget
C. Cost sheet D. Marginal costing
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Q69. FFIfaf@d # A Fie ® Aoy AFrT Y AT T F FEW Ageaqyr AHA F ¥ 0 32
A. IcI&T IR B. sa1¢€

C. i efie D. AT dRETT

Q70. Costs which are ascertained after they have been incurred are known as:
A. Imputed cost B. Sunk cost
C. Historical cost D. Opportunity cost

Q70. ¥ @t F fFA ATH & AT JATAT §, S 3% TT g I & 918 AuiRa fre €2
A. & &R B. fawer areraT

C. WRIETT F#Td D. 3a3X 9T

Q71. Accounting standard 2 recommends the valuation of inventory on:
A. Absorption costing B. Marginal costing

C. Activity based costing D. Job costing
Q71. AW AAF 2 FIE FT HeAFa fatarad & ¥ Bhd o F3ar Y RGN Fyar 8?2

A. 3TTNYUT AT B. @HT deTd

C. sfafaf®r w 3meRa smera D. & JRE T

Q72. If lead time is 5 weeks, average weekly consumption is 28 units, the re-ordering level
will be

A. 120 units B. 130 units
C. 140 units D. 150 units

Q72. Ry FH Hia (s ) 5 HeaTe &, AT FCARE WU 28 FHE ¥, A T AW A FT TR
gl

A. 120 sorsar B. 130 srsal
C. 140 s&rsar D. 150 s&rsaf

Q73. Continuous stock taking is a part of:
A. Annual stock taking B. Perpetual inventory

C. Periodic inventory D. ABC analysis
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Q73. R i Y AT =1, AFafai@a & & 5w F1 R &2
A. ari¥es AT &Y Sire B. faRc¥ #er
C. 3mafds @ D. T.&.4. faeeryor

Q74. Labour turnover is measured by:
A. EOQ B. Last in first out Method
C. Flux method D. First in first out method

Q74. #7 AR Arafaf@a # ¥ e garr ard e 82
A. .30, B. d¥e 37 BES 33 [AfYy
C. woraq fafer D. ®EC 3o BES M3 Afer

Q75. For a particular work the total remuneration is Rs. 3600. A and B can alone complete
the work in 12 and 24 days respectively. What will be the remuneration of A if they can
complete the work together from the starting of work?

A. 2400 B. 1200
C. 1800 D. 2000

Q75. frlt v @ F1 & faw fear S aren For MRHAF 3600 wT 71 A 3R B e 30 FIH HY FAA: 12
3 24 Rt # qu = FF §1 IR T YEATT F UF WIT FH B QU FA § A TasC B A F1 aienfEw @ gem?

A. 2400 B. 1200
C. 1800 D. 2000

Q76. Maximum possible productive capacity of a plant when no operating time is lost is
called

A. Practical capacity B. Normal capacity

C. Theoretical capacity D. Capacity based on sales expectancy
Q76. FI$ WATAT HY ASC o gl U UH FIAT I HAFAH THT 3cUIGH &THAT Y FgT AT g1
A. ST &THT B. €AY &THT

C. ¥gifas araar D. fSshr 31981 & 3TUR W &7A T
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Q77. Director's remuneration form part of:

A. Production overhead B. Administration overhead
C. Selling overhead D. Distribution overhead
Q77. e &1 qiafas Peafaf@a & @ frae Rewr &

A. 31T 3Naes B. WemHe 3aes

C. fodhT 3aves D. fIaRoT 3a%es

Q78. ABC costing is based on

A. Accounts B. Activity

C. Arrangements D. Alternatives
Q78. v.d.H. arra W TR ¥

A. or@r B. sifafafer

C. cgaear D. d&fedsh

Q79. Prime cost plus variable overhead is known as:
A. Production cost B. Marginal cost

C. Total cost D. Cost of sales

Q79. I« A AT H FU AR FAT FT & ATl § @Y 38 74T Fged 82
A. 3cUTEsT dTeTT B. H#d ameTd
C. el AT D. fa&hr fr amera

Q80. In which of the following methods, issues of material are priced at pre-determined
rate:

A. Inflated price method B. Standard price method
C. Replacement price method D. Specific price method
Q80. fArfafaa # ¥ frw fafYr #, sl aerefht vF q@-PuifRa a7 w77 v s 82
A. 981 g3 & fafer B. Aol Hed fafyr

C. gfoeumTe Hea fafer D. fAuiRa #ea fafer
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Q81. Bin card is maintained by the:
A. Accounts department B. Costing department

C. Stores D. Purchase department

Q81. s F1¢ A fFE gaRT IATC TWT AT §?
A. or@r AT B. o1 fastmer

C. &R D. %3 3T

Q82. ABC Itd manufactures a single product which it sells for Rs. 20 per unit. Fixed cost is
Rs. 60000 per annum. The contribution to sales ratio is 40%. ABC Itd breakeven point in
units is:

A. 7500 B. 8000
C. 7000 D. 7400
Q82. ABC fafits t& tahel 3cUIE IaTd! § oY 98 20 TT 9y 31§ W aat 1 X amra 60000 F9v 9fy af

¥1 Tt # AvereTe #1 IHTITT 40% 1 A gA3T B ABC Y sFTEAT F wmer-3remy RBAfy (3F §a71 carse)
AT & @ Fr ef?

A. 7500 B. 8000

C. 7000 D. 7400

Q83. An example of fixed cost is:

A. Direct material cost B. Works managers salary

O

C. Depreciation of machinery
Q83. Arfaf@d & ¥ U T FT 3gTeIvr 471 §:
A. 9cT8T ATl T AT B. S YSEIhT T dcdeT

. Chargeable expenses

C. #M &1 518 D. U =1

Q84. The maximum period for which speculation loss can be carried forward is:

A. 4 years B. 6 years

C. 8 years D. Indefinitely
Q84. TAfad (FIFgAUA) FIfer FY 3T & ST AT Y IrfFae Iafe 7 8
A. 4§ B.6ay

C.8a¥ D. 3fAfere shrer e
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Q85. Income under the Income tax Act is computed under:

A. 5 heads B. 4 heads

C. 6 heads D. 8 heads

Q85. IHF ATAAIH & i M7 At 7oA Bra=r ofiwt F sraeia $ir e &:
A. 5 s B. 4 ofi§

C.6 MY D. 8 oy

Q86. For non-payment or short payment of advance tax:
A. Interest is payable under section 234A B. Interest is payable under section 234D

C. Interest is payable under section 234B D. Interest is payable under section 234C

Q86. FX F -3 AT F AT F forw:
A. ST 8RT 234A F ded ST & B. ST GIRT 234D & dgd &I &

C. STIST YRT 234B & dgd e & D. SISl &RT 234C F dgd T &

Q87. Mr. X a government employee gets Rs. 20000 as entertainment allowance for the year
out of which he spends Rs. 2000 for official purpose, Rs. 5000 for personal purpose. One
fifth of his basic salary amounts to Rs. 8000. The taxable entertainment allowance is:

A. 20000 B. 13000
C. 18000 D. 15000

Q87. AT X T TN FHUR! § I8 v a¥ & 20000 FARSI sicaT Herdr § o ¥ 32 eI 3T &
forT 2000 F9F FuT S 3227 F fw 5000 FUT @ Tl 3% A A= T gtgar {EAT 8000 FIC | @Y q@AST
& 37T FT AT AASAA HedT F4T grem?

A. 20000 B. 13000

C. 18000 D. 15000

Q88. An individual who satisfied one of the basic conditions and has been a resident in
India in 2 out of 10 preceding previous years, is said to be:

A. Resident B. Resident and ordinarily resident

C. Non resident D. Resident and not ordinarily resident
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Q88. tF ¥ frwet FRAAT et & v ot Y g BT ¥ 3N S oo 10 F ¥ 2 ant F yRa A wr E, 3w
Aeafaf@a & ¥ Fa7 a1 STeem:
A. fFardr B. fAardt 3k geead: HarEr

C. T e D. Aard 3tk I graeTa: Hardh

Q89. National income is measured by:

A. Ministry of Finance B. CSO (Central Statistics Office)
C. RBI (Reserve Bank of India) D. SBI (State Bank of India)
Q89. TAY 1T fFad gaRT AT JAeht

A. Req #F1eT B. &1.UH.3T. (FET HITEIH HATEY)
C. 3R.&.31m8. (IRAT Red dF) D. TH..3ME. (HRAT e IF)

Q90. In India most of the unemployment is:
A. Disguised B. Open
C. Cyclical D. Urban
Q90. Ra & Wi R Arafaf@a & & Far §:

A. Y=BoT B. Toll

)

C. ThIg D. gl

Q91. The main cause for unemployment in India is:
A. Raising prices B. Increase in public expenditure

C. Defective mandatory policy D. Improper utilization of resources

Q91. R H AU FT FET FRT ¢

A. Fradr 7 gfg B. i < 7 i

C. arvyqet srfeiard #fifer D. HETHEAT &I 3 39T

Q92. refers to public revenue, public expenditure and public debt.
A. Monetary B. Fiscal

C. Industrial D. Foreign
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Q92. e AIAATAF TeIEd, AHdoATa® 47 A s HOT Y Hefia Far ¢
A. AifgE B. ISThINT
C. 3z D. fagefr

Q93. Contraction of demand is the result of:

A. Decrease in humber of consumers B. Increase in price

C. Increase in price of related goods D. Decrease in the income of consumers
Q93. Arafaf@a # & fFud IRUTATIET AT & FAT g §:

A. SIS S HEar # FA B. S ¥ Y

C. Gfed aeg3it T et 7 gig D. U T 3T & AT

Q94. The price of apples falls by 5% and quantity demanded rises by 6%, this means

demand.
A. Elastic B. Perfectly elastic
C. Inelastic D. Zero elastic
Q94. A% HiY AHA H 5% H g A W 37H Aiar 7 6% F1 IR g8, g9 IF #iar grar 81
A. AIGR B. quf eieer
C. &g Tgd D. T dlEIER

Q95. Deflation has a side effect of

A. Increase in unemployment B. Increase in demand

C. Economic depression D. Increase in individual expenditure
Q95. TR (Bwerer) #1 gowsma gl §1

A. AT & 3fg B. &l & g

C. e #dr D. gfederd @9 & gig

Q96. Which of the following is the best example of agreement between oligopolists?
A. OPEC B. WTO
C. SAARC D. GATT
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Q96. A7 ¥ ¥ #iF sen=wR (Nfaauifarew) F fiv FH=la F1 TV 36T 3T 82

A. 3rdrg.. B. Secg.&1.3M.
C. TH.U.U.3TR. 4. D. h.u.drén.

Q97. Calculate AFC at 2 units from following table:

Output 0 1 2

Total cost 580 695 850
A. 105 B. 235
C. 180 D. 290

Q97. A% arfasr & 2 swsal # T.uh.Hl. Y ToraT HI:

Output 0 1 2

Total cost 580 695 850
A. 105 B. 235
C. 180 D. 290

Q98. "Debit the receiver and credit the giver" relates which among the following accounts?

A. Personal Accounts B. Impersonal Accounts
C. Real Accounts D. Nominal Accounts
Q98. "YIcasdhdl H A FY 3 & g F FTAT" Tg A ¥ FH @ @ wa T 82

A. safederd @ B. fadafeas @ra

C. ar&dfas @rd D. AHATT @i

Q99. What is the primary objective of Tax Audit, as per 44 AB of Income Tax Act 1961?

A. To assist the management in computing tax B. To assist the tax authorities in assessing the
liability accurately correct income of the assessee

C. To assist the management in regard to D. To assist the tax authorities to collect more tax
effective tax planning revenue
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Q99. IIFT HAFATH 1961 ¥ 44 AB F ITUR FI ET THET FT TTUMAF 3227 FIT 82

A. I STAT T e &I T GRET0TT e H gae= dhr B. iRl it @EY 3m7 &1 Hediehed et #
FCEE LT TfasRIRAT T TErR=Idar T

C. JHTAT Y AVSTAT & T H a8 HT TErRIdr e D. 318 FT AT THIAd el & [T Y ATARTRAT T
TETIAT AT

Q100. IT of a person is determined on the basis of his:

A. residential status in India B. citizenship in India

C. residential status outside India D. citizenship outside India
Q100. s gfFa # J1E.A. 39S 37 IYR W ARG i et § -

A. AT & 3y feafa B. $IR T AR

C. $IRT & STe ey et D. #Rd & STgT I AR
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